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I 71 mwn: errant report of death of wife (S1) and subsequent marriage to her sister (S2)

a

b

C

if wife (S1) returns - she may return to him, no consequent prohibitions:
i he may marry the nwn »a11p and the 7w may marry his kin
ii  if the wife dies, he may marry the sister (52)
iii even if she traveled with S2’s husband; both reported dead
1 even though this prohibits S2 from ever returning to her husband, S1 may return to B1
if report is clarified and wife died later — children conceived before correct date are o™mn but not latter ones
oY "1: only someone who is DINR "y H01a is MxY Y Yo (explained in next NYw)

II  Attribution of mwn

a

b

d

suggestion: mMwn cannot be ", who added to ruling (no Ny require v except for 772 2”y R”R) INVR MNRI NR NVR

i - since S2 requires a v), S1 is now MW MNR and cannot return to her husband

rejection: 17 interpreted Nk NWR as case of PWITP, followed by report of death of B1, m1a» with B2 and reappearance
of B1; since people will think original pwy1'p were *Rin %y (unfulfilled) - >wy1p B2 were valid

i parallel: in case of NWR MNK

ii  however: concern doesn’t apply if 1¢ marriage was solidified PRI 2 — PRIYVIZ RIN PR

nonetheless: cannot be ™, since (X215) he interprets janR in v. 1 such that ymmnn after death of wife is not nnm arn

i therefore: mywn should have listed ymnn as well

block: y™ never said nmimn MYR MmN INRY 1NN, just removed the nnon avn

III'  Challenge to premise of mwn (that relations with S2 doesn’t forbid his wife, S1, to him)

a

b

challenge: In ' mwn, we rule that Y»12% a5 nnor::S1 should be Yvay nor
defense: in case of 'R mwn, n"nn such Nk’a would (if intentional) create n"nn NOR; ©”1N NI in case of NIY; in
case of MMYR MNY, even if intentional, wouldn’t create n”nn M’R->no v NN in case of misreported death
support: Rn»11 (on NMR in v. 2) — only R”R &1 prohibits her to her husband, not nmnx na’sw, blocking...
i Errant derivation: if in case of potentially temporary mo® (8"R), she is prohibited to the one who
generates the (9Y2) MR, 17p in permanent MR (INWR MINR), T0IR (original wife) should be n1or
ii NN’ " 0”21 v"a agree that if he has relations with ymnn, his wife is 170X to him;
1  reason: v. 2 — the entire household isn’t killed (the wife did nothing) — must be MoR>
2 dispute: if he has relations with mwr mnx
(a) w"aprohibit the wife, (don’t accept nw1T on NMR)
(b) n"a permit (accept NMR)
iii ov " 0”1 v"a agree that if he has relations with mwR mny, still permitted to wife
1 Reason: the Mook he generates when marrying her is broader (all men) than the one she generates
for him (marp); if her nx’a with a prohibited one (in case of rape) doesn’t prohibit her, y'p here
2 In case of 7, NMR is exclusive
3 Dispute: if he has relations with 1mnn
(a) w"aprohibit the wife (don’t accept nw1T on NMR)
(b) n"a permit (accept NMR)
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